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AAPQ : ACPQ=1:1

. AAPQ = %AAPC = % x10 =5




52. S AABC o4l AD : DB = BE : EC =
CF:FA=3:10°|t)h AADF = 6cm? ¥
o, ADEF ©] Y o]& atofet,

L
[

14 cm?

~&B

AADF = §AABF
1
ES %X ZAABC
AABC = ?AADF = ? x 6 =32 (cm?)
uF#7HX) 2 ADBE — %AABC,
AFEC = iAABC
- 16

7 7
. F=— == =14 2
ADE 16AABC T X 32 (cm?)




53. t& 19 HaPAHS ABCD oA thZtA AC 99 A Poll AP :
PC =3:29|1, gABCD = 100cm? ¥ ], APAD 9] Ho]& 5}
gt (&, &9+ A=Feitt)

A D

\VARR 4
0x
i

30

~&B

AAPD + APCD = 50(cm?)
AP:PC=3:20]B2

APAD = 50 % g — 30(cm?)




54.

the 78 o] WA} CD 9] Ho|7} 240cm? 0] BC o] 55
HAEE, F,CDO 82 Gt & off, Mgt f29] yo|g otofzt.

>
w,

vV V¥
0x
i

160

~&B ~

AABF &} AAFC oA =o]7F 21l o] 2: 10]|E2 AABF :

AAFC=2:1
2 2 1
AABF = x AABC = — x = x OABCD
142 3 2
= 80(cm?)

; 1
a7 A HFEH 0 2 ADFC = gABDC

1 1 1 1

= 20(cm?)
AAGD = %AACD = %DABCD = 60(cm?)

<. AABF + AFCG + AAGD = 80 + 20 + 60
= 160(cm?)




55. & 1394 AC//DE ©|1 aAABC = 135cm? ©|t}. BC = 15cm ,
CE = 9cm ¢ i, AACD 2] Yo]E F5}odzt,

D

B L

=

~15¢cm- "C 9cm

[

>
> ®ehl 81cm?

AB =135%x2+15 = 18(cm)

AACD = AACE = % X 9 x 18 = 81(cm?)




